CT Consultants

Campbell County, Police Administration Paving Improvements Campbell County, KY CT Job #210349

SUNESIS CONSTRUCTION

Item No.	Spec. No.	Item	Estimated Quantity	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
		DEMOLITION AND EARTHWORK								
1	202	CLEARING AND GRUBBING, INCLUDES TREE AND STUMP REMOVAL	1	LS	\$2,000.00	\$2,000.00	\$2,990.00	\$2,990.00	\$2,500.00	\$2,500.00
2	203	REMOVE LIGHT POLE FOR RE-USE	3	EA	\$500.00	\$1,500.00	\$454.00	\$1,362.00	\$450.00	\$1,350.00
3	203	REMOVE STRUCTURAL FOUNDATION to 12" BELOW GRADE	1	EA	\$800.00	\$800.00	\$1,385.00	\$1,385.00	\$1,000.00	\$1,000.00
4	203	REMOVE EX PAVEMENT	185	SY	\$4.00	\$740.00	\$16.00	\$2,960.00	\$35.00	\$6,475.00
5	203	REMOVE EXISTING FLAG POLE	1	EA	\$500.00	\$500.00	\$454.00	\$454.00	\$450.00	\$450.00
6	203	REMOVE EXISTING CATCH BASIN	2	EA	\$200.00	\$400.00	\$325.00	\$650.00	\$500.00	\$1,000.00
7	203	REMOVE EXISTING STORM PIPE	150	LF	\$20.00	\$3,000.00	\$10.00	\$1,500.00	\$10.00	\$1,500.00
8	203	REMOVE EXISTING SIDEWALK	16	SY	\$4.00	\$64.00	\$60.00	\$960.00	\$15.00	\$240.00
9	203	REMOVE EXISTING WOODEN SIGN	1	EA	\$200.00	\$200.00	\$80.00	\$80.00	\$500.00	\$500.00
10	203	REMOVE EXISTING SIGNAGE LIGHT	2	EA	\$50.00	\$100.00	\$220.00	\$440.00	\$220.00	\$440.00
11	SPL	INSPECT UNDERDRAINS	2	EA	\$250.00	\$500.00	\$1,100.00	\$2,200.00	\$350.00	\$700.00
12	204	EARTHWORK	1	LS	\$8,000.00	\$8,000.00	\$44,425.00	\$44,425.00	\$36,500.00	\$36,500.00
13	212	EROSION CONTROL	1	LS	\$4,500.00	\$4,500.00	\$1,635.00	\$1,635.00	\$1,500.00	\$1,500.00
14	302	SUBGRADE UNDERCUT CSB BACKFILL	200	TON	\$20.00	\$4,000.00	\$58.00	\$11,600.00	\$80.00	\$16,000.00
15	302	SUBGRADE UNDERCUT CSB BACKFILL - ADDITIONAL IF AUTHORIZED	400	TON	\$25.00	\$10,000.00	\$56.00	\$22,400.00	\$80.00	\$32,000.00
		DEMOLITION AND EARTHWORK SUBTOTAL				\$36,304.00		\$95,041.00		\$102,155.00

CT Consultants

Campbell County, Police Administration Paving Improvements Campbell County, KY CT Job #210349

SUNESIS CONSTRUCTION

Item No.	Spec. No.	ltem	Estimated Quantity	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
		STORM SEWERS								
		STORM SETTERS								
19	701	12" STORM SEWER	263	LF	\$50.00	\$13,150.00	\$143.00	\$37,609.00	\$105.00	\$27,615.00
20	703	ROCK CHANNEL PROTECTION	3.0	TON	\$200.00	\$600.00	\$500.00	\$1,500.00	\$85.00	\$255.00
21	704	UNDERDRAINS	85	LF	\$20.00	\$1,700.00	\$38.00	\$3,230.00	\$25.00	\$2,125.00
22	710	STANDARD INLET	5	EA	\$2,500.00	\$12,500.00	\$2,225.00	\$11,125.00	\$2,500.00	\$12,500.00
23	710	SLOPED AND FLARED HEADWALL	2	EA	\$2,000.00	\$4,000.00	\$1,950.00	\$3,900.00	\$2,000.00	\$4,000.00
		STORM SEWERS - SUBTOTAL				\$31,950.00		\$57,364.00		\$46,495.00
		STORM SEWERS - ALLOWANCES								
24	701	8" ROOF DRAIN REPLACEMENT	80	LF	\$40.00	\$3,200.00	\$47.00	\$3,760.00	\$65.00	\$5,200.00
							*			
		STORM SEWERS - ALLOWANCES - SUBTOTAL				\$3,200.00		\$3,760.00		\$5,200.00
		ELECTRICAL								
25	716	FOUNDATION WITH GROUND ROD	4	EA	\$850.00	\$3,400.00	\$1,825.00	\$7,300.00	\$1,800.00	\$7,200.00
26	716	RESET EXISTING LIGHT POLE	3	EA	\$200.00	\$600.00	\$450.00	\$1,350.00	\$445.00	\$1,335.00
27	716	1.5" CONDUIT	400	LF	\$2.00	\$800.00	\$9.25	\$3,700.00	\$9.10	\$3,640.00
28	716	TRENCHING	350	LF	\$5.00	\$1,750.00	\$5.50	\$1,925.00	\$5.00	\$1,750.00
29	716	LED FIXTURE HEAD	4	EA	\$850.00	\$3,400.00	\$1,160.00	\$4,640.00	\$1,150.00	\$4,600.00
30	716	ELECTRICAL JUNCTION BOX	6	EA	\$500.00	\$3,000.00	\$405.00	\$2,430.00	\$400.00	\$2,400.00
31	716	ELECTRICAL WIRING	1	LS	\$7,000.00	\$7,000.00	\$6,560.00	\$6,560.00	\$6,500.00	\$6,500.00
32	716	REPLACEMENT BOLT COVERS	3	EA	\$500.00	\$1,500.00	\$200.00	\$600.00	\$200.00	\$600.00
33	716	PROPOSED LIGHT POLE	1	EA	\$2,500.00	\$2,500.00	\$2,925.00	\$2,925.00	\$2,900.00	\$2,900.00
	710	. 101 0020 213 1 022		L/ (\$2,000.00	\$2,000.00	ΨΖ,720.00	Ψ2,720.00	\$2,700.00	\$2,700.00
		ELECTRICAL - SUBTOTAL				\$23,950.00		\$31,430.00		\$30,925.00

CT Consultants

Campbell County, Police Administration Paving Improvements Campbell County, KY CT Job #210349

SUNESIS CONSTRUCTION

Item	Spec. No.	Item	Estimated	Unit of	Unit Cost	Item Cost	Unit Cost	Item Cost	Unit Cost	Item Cost
No.			Quantity	Measure	Total		Total		Total	
		ELECTRICAL - ALLOWANCES								
								+= + += 00		15 100 00
34	716	REPLACEMENT POLE	3	EA	\$2,500.00	\$7,500.00	\$1,715.00	\$5,145.00	\$1,700.00	\$5,100.00
		ELECTRICAL - ALLOWANCES - SUBTOTAL				\$7,500.00		\$5,145.00		\$5,100.00
		ELECTRICAL - ALLOWANCES - SUBTOTAL				\$7,500.00		\$5,145.00		\$5,100.00
		PAVEMENT AND RESTORATION								
35	207	SUBGRADE COMPACTION - PROOF ROLLING	1140	SY	\$2.00	\$2,280.00	\$4.00	\$4,560.00	\$1.00	\$1,140.00
36	212	TOPSOILING, SEEDING, MULCHING, RESTORATION	1	LS	\$4,000.00	\$4,000.00	\$4,650.00	\$4,650.00	\$2,500.00	\$2,500.00
37	302	CRUSHED STONE BASE (CSB)	400	TON	\$20.00	\$8,000.00	\$43.50	\$17,400.00	\$42.00	\$16,800.00
38	408	PAVEMENT MILLING	930	SY	\$5.00	\$4,650.00	\$6.75	\$6,277.50	\$10.00	\$9,300.00
39	402 / 403	ASPHALT BASE COURSE 4.5"	225	TON	\$60.00	\$13,500.00	\$116.00	\$26,100.00	\$108.00	\$24,300.00
40	402 / 403	ASPHALT SURFACE COURSE 2"	200	TON	\$70.00	\$14,000.00	\$116.00	\$23,200.00	\$115.00	\$23,000.00
41	501	7" CONCRETE PAVEMENT	246	SY	\$80.00	\$19,680.00	\$128.00	\$31,488.00	\$95.00	\$23,370.00
42	505	4" CONCRETE SIDEWALKS	26	SF	\$10.00	\$260.00	\$32.00	\$832.00	\$20.00	\$520.00
43	713	PARKING LOT STRIPING (2 COATS)	1	LS	\$800.00	\$800.00	\$4,600.00	\$4,600.00	\$1,000.00	\$1,000.00
44	721	6' BLACK VINYL CHAIN LINK FENCE	110	LF	\$20.00	\$2,200.00	\$98.25	\$10,807.50	\$100.00	\$11,000.00
45	SPL	20' FLAG POLE	1	EA	\$2,500.00	\$2,500.00	\$6,425.00	\$6,425.00	\$2,737.00	\$2,737.00
40	JF L	20 TEAGT OLE	- '	LA	\$2,300.00	φ∠,500.00	\$0,425.00	φυ,425.00	ψ <u>Ζ,131.00</u>	\$2,737.00
		PAVEMENT AND RESTORATION - SUBTOTAL				\$71,870.00		\$136,340.00		\$115,667.00

CT Consultants Campbell County, Police Administration Paving Improvements Campbell County, KY CT Job #210349

SUNESIS CONSTRUCTION

Item No.	Spec. No.	Item	Estimated Quantity	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
		ALTERNATE 1								
46	203	REMOVE PAVEMENT	1150	SY	\$4.00	\$4,600.00	\$9.25	\$10,637.50	\$15.00	\$17,250.00
47	204	EARTHWORK	1	LS	\$2,000.00	\$2,000.00	\$5,100.00	\$5,100.00	\$18,000.00	\$18,000.00
48	302	CRUSHED STONE BASE (CSB)	280	TON	\$20.00	\$5,600.00	\$45.00	\$12,600.00	\$48.00	\$13,440.00
49	501	CONCRETE PAVEMENT	1246	SY	\$80.00	\$99,680.00	\$115.00	\$143,290.00	\$50.00	\$62,300.00
		ALTERNATE 1 - SUBTOTAL				\$111,880.00		\$171,627.50		\$110,990.00
·		BASE BID			\$164,	074.00	\$320,	175.00	\$295,	242.00
ALLOWANCES				\$10,700.00		\$8,905.00		\$10,300.00		
	ALTERNATE 1				\$111,880.00		\$171,627.50		\$110,990.00	
	TOTAL BID PROPOSAL				\$286,654.00		\$500,707.50		\$416,532.00	